
Imperfect Information in Health Care Markets

Exercise Session 7 - Rothschild-Stiglitz



Questions about the lecture



Exercise 13 d)

If risk types were observable what would be the equilibrium
contracts for the two risk types?



F- ✗c. 13 d)

Fisk aversion
,
con petition ⇒ full coverage, Zero profits

⇒ the contract will have Coverage q .-1 and

premium p = ✗ . L
,

with ✗ = ✗
<
or ✗ =L

#



Exercise 13 e)

What is the Rothschild-Stiglitz equilibrium (i.e. the equilibrium
when risk types are not observed by the insurance companies)? For
which shares of high risk types is there a full coverage pooling
contract breaking this equilibrium?
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How to Conduct the RJ- equilibrium (Candidate ,
because Sometimes equilibrium doesnot exit) :

- high type gets full coverage Contract at fair premium
(here : d

#
• L = E)

- contract ( Pe , qe) for the low typ.ec safisfies two things:

1. yields zero profits for insuranas from the l-tgpe ⇒ pe = qe . ✗
<

. L = Ge -&
2. high type is indifferent between his contract and (pe.ge)
↳ utility of 4- typen of his contract : u (9- E) = u (6.5) = ¥3

,
875

utility d- (pe.ae) - antat: I. „ ( g - pe - g-(1-qejj * zu /9-pe) 43,875

plugin Perak ' E,
⇐) 9e = 0,3355

p n
i"profit eines
Game slope

⇒ pe = 0,4193

=) Contract of the low type is (pe.ge/-- (0,4193; 0,3355).
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whenever the indifferente Curve of the low type

through her equilibrium candidate Contract is above the

Zero - isoprofit pooling line (also partclgn above is snfficient)
,

the RS - equilibrium candidate is broken by pooling .

(et as asswre the share of high
risk legpes is g.

Then
,

the fair premium for a full coverage pooeiug Contract would be p=p . ✗
n

. < + H- y) - ✗e.L

= 1,25J + 1,25
(experted) utility oflortype from this full Coverage contract:

ftp. utility from his (0,4193; 0,3355) Contract :

U ( 9 - 1,25- 1,25g) = . .
.

Er 47,47 - 2,81g - 0,78 JE ! 9

U ((0,4193 ; 93355)) = ¥ . u ( 5,2582) 1- ¥ u (8,5807)
= 46,44



for which Hear r is the low type indifferent between there two Contract ?

→ 46,44 47,47 - 2,81g - 0,7872

⇐ ) . . _ ⇐) y
= 0,3365 (since y is a Share between Oand1)

So
,
the equilibrium candidate is broken for y< 0,3365 andno equilibrium bist in this

case
.



Exercise 15

Suppose that a low risk type is indi↵erent between his contract in
the Rothschild-Stiglitz equilibrium candidate and a full coverage
contract at premium (�↵h + (1� �)↵l) ⇤ L. What interpretation
does the premium (�↵h + (1� �)↵l) ⇤ L have? Demonstrate that
in this case the Rothschild-Stiglitz equilibrium does not exist.
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The premium (7- du + U- y) - ✗e) . L is the etpected cost for the insarauce

from a full Coverage pooliug Contract .

Also
,
this munter is equal to the Slope of

the püoliwg is-profit curves .

Let's draw a picker of this Situation :
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p

TOP
"" [slope : ff - du + H-Hae ) - L)*

Ke"" "" " "" "" " " "

N"""TÄ"""" " " = " "" + " """

< T.tn - L t U-Hae - L

*
☒ RS-equilibrium Candidate

! q
Observation : 1-1-9=1

,
the slope of the k of the low type is

Knaller than the Slope of the isopntit poding line

auf these two lines iwlersect af 9=1.

=) 1C of l- typen crosses the posting isoprofit Curve froma)

⇒ there Mists a profitable pooliwg Contract, heute the RS- equilibrium does not eyist.

↳ any Contract in the green region !



Exercise 16

In the Netherlands, health insurance contracts can only be changed
at the end of the calendar year. Discuss why such a regulation may
or may not be a good idea. Do you know of other similar
provisions or regulations?
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Such a regulation is a good idea for iusurauces :

- people Switch from Laing low risk to being high risk andVice versa over time

→ if immediate Charge of plan is allowed
, people Could bug no iusurauce and go

full Coverage

Once they fehl id (so uobody would bug a high Coverage insurana even though they are riskauerse)
- it might be easier for insurauas to predict their Cost for the up can:ng year

- if people switch to high risk Within the year, insuranus night have higher Cost than expectedand men into liquidity problems

Companion : German private plans that cover dental
Core only after 2 years

.



equations from 13.6) : pq - formula:

4 ü = 163 - Zpz -160g - 2592 - 14p +10pq ✗
<
+ px + q

= 0

⇒ ✗ = - E ±TIEFAT
⇐> p2 + (7-59) .

p
- 81,5 - 30g +12,592 + 25=0

⇒wär

⇒ p = 59¥ ± -14592-25+81.5+-3091

= 59¥ ± Äzs-4g_fÄü-3261209T
= 59¥ ± I. TÄ+50q+375-8


